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F—11
e e =i kXED
(BB .

EEETE m7.1.13 M7, 2.1 M7.3.1 W74 28 7.5, 25 M7.6.14
Rz Bh ] B Bh Bh Bh
RIEZ _ 13:34 12:30 13:52 11-00 11:02 10:53
=8 T 0.8 3.2 1.3 71,8 18.2 8.5
KB C 71 1.2 0.5 0.4 4.6 9.9
=18 , & T ERE 3 P
1[AFEOA me/0 0.01 LLF | = - = = = =
27> me/9 ENET — — — - - - —
ER ne/0 0.01 LIF = 0. 001 = = < 0.001 -

4 |iE me/0 0.01 LUF = <0.001 = = 0. 001 =
5 |a7kER - me/8 ] 0.0005 LI F = = = = = =
6 [FRUE{LEZ = =JL (PCB) me/Q B — — - — — —
APZEET D - mg/0 0.02LLF | <o 001 {0,001 0. 001 <0.001 < 0,001 < 0. 001
8 |EER me/C | 0.002 LT = = = = < 0. 0001 =
91, 2->s0nTs > me/0 | 0.004LIF | <0 0001 <0.0001 < 0. 0001 < 0. 0001 <0.0001 < 0. 0001
0L 1-2s00TF LY me/0 0.02 LLF = <0001 = = < 0. 0001 —
>R, -S4 00TF 0> me/0 0. 04 LUF = 0. 001 = 0. 001 0. 001 <0.001
12[.,1-FUZ0RT% > ne/0 1L = = = = < 0. 0005 =
1B3[1,1,-FUSO0TS > me/C | 0.006 LT = = = - < 0. 0001 =
NIDCEEEE me/0 0.03 LU F = 0. 001 = = 0. 001 =
5|7 FSZ00TFL > me/0 0.01 LUF = < 0. 0005 = < 0. 0005 < 0. 0005 < 0. 0005
16]1, 3~ 70070~ me/8 | 0.002 LT = = = = < 0.0001 =
s> me/C | 0.003 LT = = = = = =
18| FARS AT me/0 0.02 LLF = = = = = =
9~ E> ne/0 001 EF ]| <0001 0. 001 0. 001 0. 001 < 0.001 0. 001
WL me/0 0.01 LUF = = = = {0,001 -
THEgTEE S - mg/0 . — = - — 1.1 -

! amenen ne/0 10 EUF = = = = 0,007 =
2|3 “me/0 0.8 LIF = {0.15 = = <0.15 =
BE>% me/0 TLF | <002 <0.02 <0.02 <0.02 <002 {002
e pe-TEQ/0 TLLF = 0. 045 = = 0.078 —
BIIFIR B —_me/0 — = = = = < 0. 0001 =
26| F LTS me/0 — = = = = <0.001 =
T me/0 = = = = = <0.001 =
28| p H = = - = 6.8 7.0 7.3
29{BOD mg/Q — - — — — 1.5 —
30/COD me/0 = = = = = 29 =
31|S s me/Q = = = = = 5 - =
AEEES /0 — = = = = 2.0 =
3|2 Y A me/0 = = = = = 0.037 =
R e me/0 — 10 10 1 9.4 10 9.7
3| BamEE 1S/cn — 170- 170 170 150 140 140




(1) BaREk G- EkE)

7—12
; 134 [ B *EO
No hi:| B Bfiy o BR
: ((REE£ER) |

HAEEARR H17.1.13 H17. 2.1 H17.3.1 H17.5. 25
RIZ Bh =Y 2V Bh
AR 11:50 9:25 10:44 12:55
iR C 1.2 -3.8 -1.2 17.1
KB C 1.4 0.3 0.7 11.4
=48 HE TEE HE HE
1[AKEZSDOA mg/0 0.01 LIF — = — =
2|7 mg/0 ARE — — — —
3 |8 me/Q 0.01 LIF — - — —
4 |8tE me/0 0.01 LIF — = — —
5 |#5ksR mg/8 ] 0.0005 LATF | - - = -
6 [FARUIEILE Z = =)L (PCB) mg/0 - AR — — — —
7\ooaisy >y mg/0 0.02 LI'F — = - -
8 |HiEfbitE me/0 0.002 LIF — — — —
I, 2->sonxy> mg/0 0. 004 LU'F — — — -
1011, 1->Zo0xFlL > mg/0 0.02 LLF - - - —
11{>2-1,2-C4O00xFL> mg/0 0.04 LI'F — — — —
122{1, 1, 1-koOoxT4 mg/0 1LTF — — — -
13(LL2-rUSOOxSy me/9 0. 006 LIF — — - -
4k soO0xTFL me/0 - 0.03LLF — — — =
15|17 hS200TF LY me/0 0.01 LI'F - -~ — —
16[1.3->on7ar> mg/¢ | 0.002 LI'F — — - —
17|72 mg/0 0.003 LI'F - — — -
18|F AR ANT me/0 0.02 LI F — - - —
19| mg/0 0.01 LI'F — — = —
200> mg/0 0.01 LI'F — — — —

HEMEE mg/¢ . - — — —
! rwmEnen ne/0 10LF = = = =
22i5o%k mg/0 0.8 LI'F - — - —
23[IF5%F mg/0 1 LT - - — -
8|5 AFF 88 pg-TEQ/0 1 LLIF — — — —
25|\ TFIINAR mg/0 - - - - -
26l oL mg/0 — — — - -
11F L mg/0 — — - - -
28|p H - — - - 7.6
29/|BOD me/0 — — — — —
30|COD mg/0 - - — — —
31|S S mg/0 — — - — —
FEFES me/Q — - — — —
B|2VA mg/0 — - — — -
Mgk A > mg/0 — 12 13 13 9.5
5| ERIEEE u.S_/cm — 110 110 110 88




(1) BlmEik GaIN - Bk)

7—13
s g B KH@
No 15 B B4y m -k
(4 Eiith)
HEEHR H17.1. 13 Hi7.2.1 H17.3.1 H17. 4. 28 H17.5. 25 H17. 6. 14
Kz Bh &Y 22U Esh - Bh Bh
HEREE G 13:18 11:51 12:45 11:02 - 10:46 10:46
S8 C 0.9 -4.6 -1.8 20.0 15.5 17. 6
KB C 5.2 4.0 0.4 10.5 10.4 - 12.0
18 B \/E i3 BE BE
1{hEZIOA mg/0 0.01 EL'F — — - — -~ -
217 me/0 ESET - — - -~ — —
3 |8h mg/0 0.01 LI'F — < 0. 001 — — < 0.001 -
4 |itsE mg/0 0.01 LI'F — < 0. 001 — — < 0.001 —
5 |#askER mg/0 0. 0005 LLF — — - - — —
6 |ARUKEILE 7 =)L (PCB) - me/0 | ABE — = ~ — - —
Ti{yroaxry mg/9 0.02 LI'F < 0. 001 < 0. 001 < 0. 001 <0.001 < 0. 001 < 0. 001
8 |miE{bikFE me/0 0. 002 LI'F — — — — < 0. 0001 —
I, 2->rponxT sy ‘mg/0 0. 004 LI'F < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001
1w 1-saoxFr > me/0 0.02LUF — <0.001 — — < 0. 001 —
11]>2-1, 2-500xFL > me/20 0.04LLF — < 0. 001 — < 0. 001 < 0. 001 < 0. 001
12{1,1,1-bUSZOOQTSH > - mg/0 1 LT — — — — < 0. 0005 —
1. .2-kVsonx4 mg/0 0. 006 LIF — — — — < 0. 0001 —
4ikysnaTFlLy mg/Q 0.03 LI'F - < 0. 001 — - < 0. 001 -
15|k 00TFL mg/0 0.01 LI'F - < 0. 0005 - < 0. 0005 < 0. 0005 < 0. 0005
161, 3-soOo7OoRy mg/0 0.002 LIF — — - — < 0. 0001 —
17l me/0 0. 003 LUF — — — — = —
18| FAXR AT mg/@ 0.02 LI'F — — — - — —
19[RE me/0 0.01 LI'F < 0. 001 <0.001 < 0.001. <0. 001 < 0. 001 < 0. 001
201l mg/0 0.01 LI'F - — - — < 0. 001 —
HEMNEE mg/0 . — - — — 1.3 —
i ng/0 10 5T = = = = .00 =
2| 3o & mg/0 0.8 LIF — <015 — — <0.15 —
23l1E5%F mg/0 1LF < 0.02 <0.02 <0.02 <0.02 <0.02 <0.02
|4 FF 8 pg-TEQ/0 1LF — 0. 045 - - 0. 047 -
BTFIAR A mg/0 — — — = — < 0. 0001 -
26| ML mg/0 — — — - — < 0. 001 —
211F L mg/0 — — — — — < 0. 001 —
28|p H — — — — 7.0 7.1 7.1
29i{BOD me/0 — — — — — <0.5 —
30|coD me/0 — — — — — 2.1 —
31]S S mg/0 — - — — — 3 —
A EEES mg/0 — — — = — 2.6 —
B2V A mg/0 — ~ — — - 0. 005 —
g kA A - mg/8 — 8.1 8.2 8.2 8.6 8.5 8.4
B ESEEE wS/cm — 170 170 160 150 140 140
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(1) BEBgik GOl - BkE)
~ 7—14
: Big KE®
No ® A aa o BKEHKE
(kik=h)
?ﬁﬁﬂ’:ﬁa H17.1.13 H17. 2.1 H17.3. 1 H17. 4. 28 H17. 5. 25 H17.6. 14
Kix Bh 2Y &Y Bh. Bh Bh
FRERESZ 13:03 13:00 12:28 10:25 9:52 9:57
B C 0.1 -1.2 -1.2 18.9 15.8 19.8
K8 °C 10.6 10.7 10. 8 10. 8 1.0 11.0
1| AEZOA mg/0 001 EUF — - - = — - -
2|7 mg/0 ARl — — — - - —
3 i8h “‘mg/0 0.01 LI'F - < 0. 001 — — < 0. 001 —
4 |itE mg/0 0.01 LLF — <0.001 — - < 0. 001 -
5 |#2kER me/0 0. 0005 LI F — — - —~ - -
6 |RVE{LE 7 = =)L (PCB) - mg/8 RS T — — — — - —
7Oty mg/0 0.02 LI'F < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 <0. 001
8 |iE b= - mg/0 0.002 LI'F — — — — < 0. 0001 -
I 2-rsonTs&y mg/0 0. 004 L\'F - < 0.0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001
10|11, 1->o0xFL > me/0 0.02 LI'F — < 0.001 - — <0.001 -
1M[ZR-1,2-/o0xFL > me/0 0.04 LI'F — < 0. 001 — < 0. 001 <0.001 < 0. 001
12{1. L, 1-rUSOOxT > mg/0 . 1T — ) — - = < 0. 0005 -
1BiL12-kUs0O0x4s > me/0 0.006 LLF | - - — - < 0. 0001 —
4l sonxTFL mg/2 0.03 LIF | - < 0.001 — - <0.001 —
15(7 > o00TF L mg/0 0.01 LI'F — < 0. 0005 — < 0. 0005 < 0. 0005 < 0. 0005
161, 3-ron7axy me/0 0.002 LIF — — — — < 0. 0001 —
17|1=oy mg/0 0. 003 LI'F — — — - — —
18|FANAHIINT me/0 0.02 LI'F - — - — — —
19X+ mg/2 0. 01 LUF < 0. 001 < 0. 001 < 0.-001 < 0. 001 < 0. 001 < 0. 001
20iL > meg/0 0.01 LI'F — — — — < 0.001 -
B ER mg/ 2 T — — — — 2.2 =
T ne/0 kel = = = = 0.005 =
2|30k mg/0 0.8 LI'F — <0.15 — — <0.15 —
R HESES meg/0 1LF 0.03 0. 03 0. 03 0. 03 0. 03 0.03
8|54+ 4F pg-TEQ/Q 1T — 0. 044 - — 0. 047 —
B ITFIAR L mg/0 — — - — — < 0. 0001 —
26| kb . mg/0 = — — — - < 0. 001 —
201|1F L mg/0 — - — — — < 0.001 -
28|p H ) - - - - 7.0 7.0 6.9
29/BOD mg/0 — — — — — <0.5 —
30]coD me/0 = = = = = 1.3 =
31|1S S me/0 — — - - — {1 -
R|EEE - me/0 — — — - = 2.4 —
IEDY mg/0 - — — - — 0. 020 —
A& A( F > mg/0 - — 91 - 88 87 83 85 85
5| BRIEEE - uS/cm — 450 440 440 390 370 370




o~ .
(1) BaBEk G - FEkE)
F—16 F—17
No & & s gg m&fzmmz BAEZNTR
EEETE Hi7. 4. 28 H17.5.25 | W7 113 HIT. 2.1 HIT. 3.1 Hi7. 4. 78 Hi7.5. 25 H17.6.14
3 BN BN B =Y EY) 30 B B
RIS 10:49 10:11 12:45 7057 12:00 70:10 9:23 9:45
] °C 19.4 4.8 0.9 1.9 2.0 7.9 4.0 19.2
Kim C 17.8 2.4 7.2 5.9 1.7 1.4 1.1 13.2
[ . ) 35 BE BE 3 TEE
1{AREOA me/0 0.01 LI'F — — - — — - — —
2|27y mg/0 TR — — — — — — — —
3 |8 me/0 0.01 LIF N 0.001 = < 0. 001 = — < 0. 001 =
4 |i=E me/0 0.01 LIF — < 0. 001 = 0. 001 — — <0.001 =
5 {#8ksR ) me/0 ] 0.0005 LIF — — — - — — — -
6 |ARUIEILE T =)L (PCB) mg/0 g — - — — — = — —
To7an0xs me/0 0.02LIF 0. 001 <0. 001 <0. 001 < 0. 001 <0. 001 - < 0.001 < 0.001 0. 001
8 [mEEEE me/8 | 0.002LIF = < 0. 0001 = = = = 0. 0001 =
I [1.2->/on0xv > mg/C | 0.004LIF | <0 0001 < 0. 0001 £ 0. 0001 < 0. 0001 < 0. 0001 < 0.0001 0. 0001 < 0. 0001
0|, 1->s00TF 0> me/0 0.02 LUF = <0. 001 = Z°0. 001 — = < 0. 001 =
M|ox1, =270nTF0 > me/Q 0.04LIF | <0001 0. 001 — <0.001 = < 0.001 < 0. 001 < 0. 001
P 1-FUsnOoxs > mg/0 1LIF = < 0. 0005 = — = — < 0. 0005 =
NN Y R me/0 | 0.006 LIF = < 0. 0001 — — = — < 0. 0001 —
IR me/0 0.03LIF — < 0. 001 = <0.001 — — < 0. 001 =
Bl FSZ00TIF0 > me/0 0.01 LLF < 0. 0005 < 0. 0005 = < 0. 0005 = <0. 0005 < 0. 0005 < 0.0005 -
6. ->zon7o~> me/8 | 0.002 LUF = < 0. 0001 — - = = < 0. 0001 —
7= me/8 | 0.003LLF = = = = - — — =
8| FARC AT me/0 0.02LIF - = — — = = = =
FI2% mg/0 0.01 LIF < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001
W[y me/0 0.01 LIF — < 0. 001 = = — = {0,001 =
MRS me/0 . — 6.6 — — — — 4.8 —
i ne/t 108F = 089 = = = = 018 =
AEEES me/0 0.8LITF = {0.15 = {0.15 - = {0.15 —
BES>= . me/0 TLLF 0.62 0.57 0.11 0.08 0. 06 0. 11 0.10 0.12
UTAFF 8 pg-TEQ/0 TLLF — 0.21 = 0. 045 — = 0.053 -
BITFIAN LY mg/0 — = < 0. 0001 — — — — < 0. 0001 —
B FLT > me/0 = = < 0. 001 = = = = < 0. 001 —
EI mg/0 — = {0,001 = — = = < 0. 001 —
78] p H = 8.3 8.2 = = = 8.2 8.1 8.0
29/B0D mg/0 = — 22 = = — = 3.6 —
36]CoD me/0 — = 20 = = = = 2.2 =
31ls s mg/0 - — 22 — — — — 3 —
S me/0 = = 37 = = — = 6.4 =
B[EVA me/0 - = = 0.12 — = = — 0. 033 -
34| B e~ A~ me/0 = 320 400 130 120 110 110 120 130
5B EE 1£S/cm — 1400 1500 610 560 510 530 510 530




(1) BAmBok Gl - Bk%)
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7—18 7—109
No ® B o Ig?—;i %Eélg_l:,‘;ﬁ EEINTH
Eﬁﬁﬁ H H17.1.13 H17. 2.1 H17. 3.1 H17.5. 25 H17.1. 13 H17. 2.1 H17. 3.1 H17.5. 25
Xz Bh Y] sU Bh Bh D] BN Bh
3R] 12:37 10:37 11:46 9:12 12:20 10:16 11:28 9:33
B C 2.5 -2.8 -0.1 14.5 2.7 -3. 4 0.5 14.2
KiE °C 2.7 0.5 3.3 10.7 3.3 0.7 0.3 11.3
EE ___Be BE _EE 3 __EE EE _BE
1 AEREZIOA mg/ 90 0.01 LI'F — - ) = = - - - =
2|27 mg/2 AR — — - - — — — -
3 184 mg/0 0.01 LI'F — — — < 0. 001 — — — < 0. 001
4 19t3E mg/0 - 0.01 LI'F — - - 0. 001 — — — 0. 001
5 |#87k SR me/0 0. 0005 LI'F — — — — - — - .=
6 [/RUIE{LE T = =)L (PCB) mg/0 A — — — — ~ — — —
T|zooxsy> mg/0 0.02 LUF — — - < 0. 001 - —~ — < 0. 001
8 |mig{bikE mg/0 0.002 LI'F — — — — ~ — — -
Il 2-s/opxs mg/9 0. 004 LI'F — - — < 0. 0001 — — — < 0. 0001
1oL 1-sooxzFLy mg/0 0.02 LI'F = = — — -~ — - -
"X, 2-sanxFL> mg/0 0.04 LI'F - — — <0. 001 — - - < 0. 001
2.1, 1-hUsopxsy mg/0 1 LIF — — — - — — — —
BlL1L2-kUsnOTss me/0 0. 006 LU'F - — — — - — — -
YlhkUSnoxzFL mg/9 0. 03 LIF - - — - - - - -
1575500 FL> mg/0 0.01 LI'F - — — < 0. 0005 - - - < 0. 0005
16(1.3-soo7ar>. mg/0 0. 002 LI'F — — — — — - —~ —
17{=o> i mg/0 0.003 LI'F — - — - — — - —
18| FARANT mg/0 0.02LIF —= — — - -~ — — —
19X+ mg/0 0.01 LI'F — — — < 0. 001 — — — < 0.001
200k mg/0 0.01 LI'F — — — — — = — —
HRtES mg/0 . — — — — — - - -
! smmReE ne/0 105F = = = = = = = =
2|5oF mg/g 0.8 LIF - ~ — — — — — -
231F5%F me/Q 1T - — — <0.02 — - — <0.02
8|5 A4AF 5 pg-TEQ/0] 1LUF — - — .= — — — —
BT FIAR LY mg/0 — - - — - = = - -
26 L mg/9 — — — - — - — — —
27| LY mg/0 — — — — — — — — =
28|p H — — - - 7.6 - — — 7.6
29|BOD me/0 — — — — — — - - -—
130{coD me/0 — - — - - - - — -
31{S s meg/0 — — — — - — — — —
ReEHE mg/0 — — - - — — - — =
B2V A me/0 — - ‘- - - — — — —
34181 4> mg/0 - 59 6. 2 6.0 5.0 8.2 9. 9.3 6. 6
S BEREEE wS/cm — 88 92 97 68 100 110 110 75
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(1) BmEk Gl - Bks)
~7—20
oy =g iRk

No E BH By =i _ )
HEEAH AI7.1.13 HI7. 2.1 HI7. 3.1 HI7.4.28 H17.5.25 HI7.6.14
XIE =Y 2Y Y Bh Bh Bh
ERENEFZ) 15:10 10:30 11:40 11:19 11:41 11:04
A8 C -1.8 -3.2 ~-3.0 17.0 19.0 18.6
X8 C 3.8 2.0 2.5 1.7 13.8 14.2
=X : E KN BE HE 2
1| AEEOA mg/0 0.01 LI'F — — - - - —
{7 me/0 A — — — — - -
3 |&8 mg/0 0.01 LI'F — < 0. 001 - — <0.001 -
4 |it®R mg/0 0.01 LIF |- — < 0. 001 - — < 0. 001 —
5 [#47k$R meg/0 - §0.0005LIF - — — - — = -
6 [FRUIE{LE T = =)L (PCB) mg/0 TRH — . — — — = —
isooAsy> me/0 - 0.02 LL'F < 0. 001 < 0. 001 <0.001 - <0.001 < 0. 001 < 0.001
8 |migq{kis me/0 0.002 LI'F — = — — < 0. 0001 -
I, 2->snnx4 > meg/0 0.004 LI'F < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 < 0. 0001 - <.0.0001
WwiL1-2sn0xF Ly mg/0 0.02 LI F — < 0. 001 - — <0.001 —
Hiz2-1,2-so0xFL > mg/0 0.04 LI'F - < 0. 001 - < 0.001 <0.001 < 0. 001
12, .1-MU SOOIy mg/0 1LF — — — - < 0. 0005 —
13 1.2-rV2OoO0x4> me/0Q 0.006 LI'F — — — - < 0. 0001 -
YlhysnaozFLy mg/Q 0.03 LIF — < 0. 001 — - < 0. 001 —
15|17 hSo00xTFL mg/0 0.01 LI'F — < 0. 0005 — < 0. 0005 < 0. 0005 < 0. 0005
1611, 3~->son7noRy mg/0 0.002 LI'F — — — - < 0. 0001 =
1<y ) mg/8 | 0.003LLF — — - — - —
18|FANRANT mg/0 0.02 LIF — — - - - —
19X +E meg/0 0.01 LI'F < 0. 001 < 0.001 <0.001 < 0.001 <0.001 <0.001
2{+L> mg/0 0.01 LI'F - - - - < 0. 001 —

HEER me/9 o - — — — 1.1 —
! rwmReR ne/0 08T = = = = 0,005 =
22| 3oE me/0 0.8 LIF — <0.15 — — <0.15 =
23|IF5F me/0 1LIF <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
4|54 A% 8 pg-TEQ/0 1T - 0. 046 - — 0. 047 S =
BN ITFIRE mg/0 — — - — — < 0. 0001 —
26|~ mg/0 — - — — — < 0. 001 —
71F> > mg/0 — — — — — <0.001 —
28| p H — — - - 7.2 7.2 7.1
29]|BOD mg/0 — — - — - <0.5 —
30]COD me/Q — - — — — 2.1 —
31({S'S me/0 - - - - -_ ? -
REE mg/0 — — — — ~ 1.2 —
B2V A mg/0 — — — — — 0. 009 =
J|E{kA A+ mg/0 = 5.3 5.3 5.1 5.7 5.2 4.8
S| ERGER uS/cm — 100 96 91 87 82 83




(1) BORFk G - Bk

~ 7 —21

No ® g B o WRRR
HEERH H17.1.13 H17. 2.1 Hi‘?,. 1 H17. 4. 28 H17. 5. 25 H17. 6. 14
KiE o Y] E Bh B B
FEHR AR 15:57 12:15 12:06 11:37 11:22 11:17
B C -1.8 -3.0 -6. 2 21. 8 19.8 18.2
KR T 1.2 0.2 0.3 15. 3 14.7 14.9
[2EE] (32 T EE BE HWE HE
HETRETIA mg/¢ | 0.01LIF — - = — ~ —
227> me/0 A — — — — — —
K me/0 0.01 LI'F — < 0. 001 —~ — < 0. 001 —
4 [itsE me/0 0.01 LI F — < 0. 001 — — < 0. 001 —
5 [#kER me/8 ] 0.0005LLF — — - - = -
6 {RUIEILEZ £ =)l (PCB) mg/0 AR - = — - — —
Tionaxsys mg/0 0.02 LI'F < 0. 001 < 0. 001 < 0. 001 < 0. 001 <0. 001 < 0. 001
8 |iE {kiksE mg/0 0.002 LIF — — — — < 0. 0001 =
I, 2->sonxsd> me/0 0. 004 LLF < 0. 0001 < 0. 0001 < 0. 0001 - < 0.0001 < 0.0001 < 0. 0001
10|1.1-200xFL > . me/l 0.02LIF — < 0. 001 — - < 0. 001 —
11| R-1,2-¥s0aTFL> mg/8 |- 0.04LLF - < 0. 001 — < 0. 001 < 0. 001 < 0. 001
12{, L1-hUSOQITS> mg/Q 1 LT — — - — < 0. 0005 =
B3 1.2-MNsaoxzyy mg/0 0. 006 LIF — — — — < 0. 0001 -
H4lkysooTFr> me/0 0.03 LI'F — < 0. 001 — — < 0. 001 —
15|17 bS200xF LY mg/0 0.01 LI'F — < 0. 0005 — < 0. 0005 < 0. 0005 < 0. 0005
16]1,.3->raonx> mg/0 0.002 LIF - — — — < 0. 0001 -
17[><o> mg/0 0.003 LI'F - = - — — —
18|FARANT me/Q 0.02 LIF | — - — —. — -
19X mg/0 0.0 LI'F <0.001 - < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001
20|1EL > mg/0 0.01 EI'F — — — — < 0. 001 —

ETEE mg/0 . — — —~ ~— 1.5 -
Nrmmnes ne/8 108F = = = = 0,008 =
22|50 mg/0 0.8 LIF = <0.15 — - - <0.15 —
S ESES me/0 1T <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
|54 AF 5 peg-TEQ/0 1LLF — 0. 046 — - 0. 049 —
B | TFIRE mg/0 - - - - - < 0. 0001 —
26| LT mg/g — — — - - <0. 001 —
211+ mg/0 — — — - — < 0. 001 —
28|p H — - — - 7.5 7.5 7.4
29|BOD me/0 — — — — — 0.8 ~
30{coD mg/Q = — — — — 2.6 —
31lss me/0 — — — - - <1 -
FIESES me/90 - — — — - - 1.5 -
IENY mg/ 0 — — — — — 0. 008 —
43/ A mg/0 — 27 29 31 17 17 18
35 %ﬂﬁﬁi wS/cm — 180 190 180 130 130 150




,'/_\\
(1) BDsmsk Gall - @Eokss)
7—22 - 7—32
- Rig REEI FiokiEKiE
No ® B B P (SRE1E)
WEEAA HI7.1.13 | Wr21 H17. 3.1 H17. 4. 28 H17.5. 25 H17.6. 14 HI7. 5. 25
RIx Bh =Y 5 Bh BN Bh (21
RIS Z 1127 9:57 11:15 9:47 12:5] 12:42 9:00
3] C 0.7 3.2 2.0 18.7 7.1 10.8 14.7
KB . 75 0.9 13 8.7 145 18.0 1.0
X BE BE BE BIKBE BE T BE
T{ARZSA mg/0 0.01 LLF — — — — ~ - -
2{27> me/Q TR — ~ — — — — —
FES mg/0 0.01 LIF — = — = < 0. 001 = < 0. 001
NEES mg/0 0.01 LI'F - = —~ - <0. 001 — 0. 001
5 [#7k$R mg/0 | 0.0005 LIF - - — - - - -
6 [RUIEILEZ = =1 (PCB) mg/0 Tl = = — = = — —
127 o0xs > mg/0 0.02 LIF {0,001 < 0.001 < 0. 001 < 0. 001 <0.001 < 0.001 <0.001
8 gt me/0 | 0.002 LIF — — ~ < 0. 0001 < 0.0001 <0.0001 < 0.0001
9. 2-UronTs > me/8 | 0.004LIF | <0, 0000 < 0. 0001 < 0. 0001 < 0.0001 < 0.0001 < 0. 0001 0. 0001
. 1->zonxFry . me/0 0.02 LIF < 0. 001 <0.001 < 0. 001 < 0. 001 {0,001 {°0. 001 < 0.001
>z 2-sanzFrs mg/0 0.04 LI'F < 0.001 <0.001 < 0. 001 < 0. 001 <0.001 < 0.001 < 0. 001
2] 1. 1-FUZ00T% > me/2 1LLF < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0..0005 £ 0.0005
13[1,1,-FUZO00x%> me/0 | 0.006 LUF < 0.0001 < 0. 0001 < 0. 0001 < 0.0001 < 0. 0001 < 0.0001 < 0.0001 .
NI R me/0 0.03 LIF < 0. 001 <0.007 <0.001 <0.001 <0.001 {0,001 < 0. 001
5[ kSonazFrs mg/0 0.01 LIF <0.0005 < 0.0005 < 0.0005 < 0.0005 {0. 0005 < 0. 0005 < 0.0005
16[1,3-SrsnO07a0~> mg/8 | 0.002 LIF {.0. 0001 < 0. 0001 < 0. 0001 <0. 0001 <0. 0001 < 0.0001 < 0. 0001
T=o> mg/8_ | 0.003LLF — — — = - — =
BFARCAINT mg/0 0.02 LIF — — = = = — —
[~ me/0 0.01 LUF < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 <0.001 < 0. 001
W0[EL> me/0 0.01 LIF — — — — < 0. 001 — < 0. 001
RS mg/0 . ~— — — —~ 0. 49 — 0.83
Y manen ne/C 10ELF = = = = 0,005 = 0,005
AR me/0 0.8 LLF = — — = <0.15 = <015
BlES>% mg/0 1LF = = — <0.02 <0.02 <0.02 <0.02
UFIAF T8 pe-TEQ/0 1TLLF — = — — = = =
BITFIATB mg/0 — — = = — <0.0001 = <0. 0001
26| FILTY me/0 — — — — = <0.001 = <0. 001
i EPT me/0 = = — — — <0. 001 — <0. 001
28[p H — — — — 7.3 7.5 8.1 7.1
29{BOD mg/0 -~ — - - — {0.5 - —
30/coD mg/0 = = = = = 2.0 = =
31|S s me/0 — — — — — 3 — —
AEEES me/0 — — — — = 0.62 = =
332U A me/0 = — = = = 0.017 — =
e me/0 = 7.9 8. 8.5 5.3 6.5 7.7 8.0
B5IEHEER ©S/cm = 100 110 110 57 80 100 100




(2) BTk

#FADIKE 723 A
T S RS RS T

o . ® 8 | RIS (83K )

?ﬂﬁﬁﬁ [5] H17.1. 13 H17. 2.1 H17.3.1 H17. 4. 28 H17. 5. 25 H17.6. 14 H17. 4. 28 H17.5.25 - H17.6. 14
B B =0 Bh B BN B B B B
T 7710 05 1334 10:03 555 777 937 857 10:23
) C -1.8 -7.5 -4.0 17.3 17.5 20.7 20.0 16.0 17.0
7k:8 c 10.0 83 10.0 10. 4 10.6 10.0 10. 3 10.5 : 10. 0
& —EE EEE ‘ “EE —EE 3 —mE ]
1I1HAESSA mg/0 - 0.01 LI'F — — — - - - - - —
217> me/0 AR — - - — - — —~ — —

3 |88 me/0 0.01 LI'F — <0.001 = — 0. 004 - — 0. 005 -
S 7e/8 | 001 B0 = 0001 = = 0,001 - = 0,003 =

5 [k me/0 | 00005 LI = = = = = = = = =

6 [RUBIECS = =0 7CH) ne/t | R = = = = = = = = =
Tivoaooxsy me/0 0.02 LI'F < 0.001 < 0. 001 < 0. 001 < 0. 001 <0.001 <0.001 < 0. 001 < 0. 001 < 0. 001
8 |FOig{kiRE me/0 0.002 LI'F - - — - < 0. 0001 - — < 0.0001 —

s [Lo-osnaTss me/8_ | 0.004 EIF | < 00007 00007 X 00001 < 0.000] 0. 0007 00001 <0007 00001

W0, 1-S/onTFos ne/s | 0 02LF = 0001 - = <0001 = = 0,001 =
1121, 2-s0nTFL mg/0 0.04 LIF — < 0. 001 - <0.001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001
121, 1,1-bUsOpxTs . mg/0 1LF — - - ~ < 0. 0005 - — < 0. 0005 -
BlLL2-husonTs> mg/0 0.006 LI'F — - — — < 0. 0001 - - < 0. 0001 —

Uik sooxTFLy mg/0 0.03 LAF - < 0. 001 - — < 0. 001 - : - <0.001 -
15|17 So00xFL Y mg/0 0.01 LI'F — < 0. 0005 - < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005 < 0. 0005
1611, 3-soo7ao~> me/0 0.002 LI'F — - — — < 0. 0001 = - ] < 0. 0001 —
17|y I me/0 0. 003 LIF — — — — — — — - —
18|FFAR AT me/0 0.02LLF — - L= - — — — — -
19X mg/0 0.01 LUF < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0. 001 < 0.001
201> mg/Q 0.01 LI'F - - - - < 0. 007 - - < 0.001 —

RS =S me/0 . ~— — — — 2.8 — - 0. 44 —

N rmmpen 7e/0 10 LT = — = = 0,005 = = Z0.008 =
RS ne/2 I8 LF = 0TS = = 05 = = {015 =
2311F5%F me/0 1LUF <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.-02 <0.02
NEZEETE pe-TEQ/D L = 0045 = - 0048 - = 0050 —

B TFIAR Y mg/0 - — - - - < 0. 0001 — - < 0. 0001 ~
26| LT me/0 — — - - — < 0. 001 — - < 0. 001 -~
21|+ mg/Q — - - - - < 0. 001 - — <{0.001 -
28Ip H - - - - 6.9 7.8 7.6 7.1 7.3 7.0
NEEHTTS 7e/8 = 73 3 73 2 17 E 5.7 70 73
30 %ﬁfigﬁ us_/ﬂ - 130 140 140 120 140 130 98 98 96

11



(2) BTk

12

7—31
#FkokE S, L
No E B sty | BEICES Y
| mmme )
HEEAA H17.1.13 HI7. 2.1 H17.3. 1 H17. 4. 28 Hi7. 5. 25 Hi7.6. 14
Rig - Bh =Y Bh ] Bh Bh Bh
3 12:20 10:31 14:17 ) 10:23 10:02 10:12
8 °c -2.0 -8.6 -3.2 17.8 14.7 17.9
7ki8 C 10. 4 7.8 9.8 9.8 9.3° 9.5
18 . 7 BE 33 BE BE
1IAEREOA mg/08 -0.01 EUF — - — = — -
2|27 mg/2 iR — - — — — —~
3 |&a mg/0 0.01 LI'F — < 0. 001 — — 0. 006 —
4 |t me/0 0.01 LI'F — <0.001, — — <0.001 —
5 |#8kER mg/0 ] 0.0005 LIF — — — - — -
6 I7RUIE{LE 7 ~ =)L (PCB) mg/0 T — = — — — —
7T\sonxsyy me/Q 0.02 LIF < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0. 001
8 |Hig{bix & mg/8 0. 002 LL'F — - — — < 0. 0001 —
Il.2->5onxs > me/0 | 0.004EIF {00001 <0.0001 < 0. 0001 <0. 0001 < 0. 0001 < 0. 0001
W0, 1-sa0xsFLr > me/0 ] 0.02LIF = . < 0. 001 — — < 0. 001 .=
1|22~ 2-ssnaxFLy me/0 0.04 LI'F — < 0. 001 - < 0. 001 < 0.001 < 0. 001
12,1, 1-FUZnnTs > mg/0 1LF — — — — < 0. 0005 —
13, 1.2-kVSOOXTS me/0 0.006 LI'F — - — — < 0. 0001 —
HlbUsoaTFLy mg/0 0.03 LI'F — <0.001 — — < 0. 001 =
15(F7hSH/O0O0TFL Y mg/0 0.01 LIF — < 0. 0005 — <-0. 0005 < 0. 0005 < 0. 0005
16]1,3->snoo7o~y _ me/8 0. 002 LI'F — - — — < 0. 0001 -
17|12 mg/0 0.003 LI'F — — - — - —
B(FARHINT mg/0 0.02 LIF — — —- — — -~
19| © mg/9 0. 01 LU'F < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0. 001 < 0. 001
200> ng/0 0.01 LU'F — — — - < 0. 001 —
B ES mg/2Q . — — — — . 1.5 . —
N rmenes ne/0 10BF = = = = <0005 =
22| 3o FE mg/0 0.8 LT -~ 0.16 — — <0.15 -
23|IF5%F me/0 1LF <0.02 0. 02 <0.02 <0.02 <0.02 <0.02
8|1 A+ 8 pg-TEQ/0 1LIF — 0. 061 — — 0. 048 —
W TFIVRE mg/0 - — — — - < 0. 0001 -
26| LT mg/0 — — - — — < 0.001 —
I mg/0 — — — — — < 0.001 —
28|p H — — — — 6. 2 6.3 6.2
| 28 [iR{e A A > me/0 - 5.7 14 26 51 6.2 6.7
30 §ﬁ§§$ wnS/cm — 130 190 240 110 110 120




(3) Hbk - Btk

Y T2 =3 7 -4
W K K&EB XHEE kEF

o " R i £ ISRk EREa-LE 5 0= RO
FEEBH H17. 4. 28 H17. 5. 25 H17. 5. 25 H17.1. 13 HI7. 2. 1 H17.3.1
X% Bh Bh B Bh =Y | Bh
I 10:00 9:36 11:24 71:55 9:40 14:44
5 C ~15.6 15.0 17.2 2.0 4.5 =
s °C 13.4 12.2 12.3 52 2.3 31
& - _ BE £ [EEX2Y et [EETS) E32)
1{IDEIOA mg/0 0.1LF — — - = = —
27> me/0 1LF — - — - = —
ES me/0 0.1LLF — 0. 002 0. 003 — < 0. 001 =

4 | me/0 0.1 LLF — 0. 001 < 0. 001 — <0.001 —

5 [#8kER mg/0 0.005 LUF — - — - — -

6 [RUIBIEEZ = =)L (PCB) me/0 0.003 EIF — — — o — —
Toonoxs mg/0 0.2LIF — <0.001 ol7sEEER] < 0.001 < 0. 001 <0.001
8 |miEfkRE mg/0 0.02 LIF — < 0.0001 <0.0001 - — — =
91, 2-C7onTs> me/8 0. 04 LIF — 0.013 0. 028 0. 0034 0. 0011 0. 0007
W[ 1-sooxFry mg/0 0.2 LIF — <0001 0. 001 — <0. 001 —
1|21, 2-FanTFr > me/0 0.4 LI'F = 0. 083 0. 064 — 0. 002 —
12,1, 1-FUsnpTd > mg/0 3LLTF — 0.0043 < 0.0005 - — ~
NSRS me/0 0.06 LIF — < 0. 0001 0. 0004 — — —
I LRSI mg/0 0.3LLF - 0. 030 0.015 — 0. 001 —
55> sonTFry mg/0 0.1LF - 0. 0077 0. 0056 - < 0.0005 —
16[1.3->soo7a~> mg/0 0.02 LI'F ~ < 0.0001 0. 0002 — — —
17|1o=o> mg/0 0.03 LI'F — - - — — -
8|FFRC AT mg/20 0.2 LIF ~ - — —~ - -
19[RF> me/0 0.1LIF — 0. 051 0. 002 <0001 <0. 001
20]EL> mg/0 0.1LF - <0.001 - - -
21 HEMER mg/0 - -~ 1.1 — ~ —

BN ER me/0 — — 0. 015 — — -

2[5o% mg/0 8LIF — <0.15 . — <015 —
BlE5% me/0 10 LIF — 0.73 8.6 1.1 1.1 1.1
T FF o8 pg-TEQ/0 10 LIF — — 0.88 — 0.00011 —
BITFNRTES mg/0 — — 0.012 2.7 — — —
26| FILTY me/0 — — < 0001 5 4 = = —
HIE me/0 = — 0. 007 2.0 — — —
28/p H — 7.2 7.0 6.9 ~ - -
29]BOD mg/Q . — — 13 1600 - = —
30/coD me/0 — — 44 500 — - =
31|s s me/9 —= 50 35 52 — — -
RILEE me/0 — — 72 100 — - —
FIEYY mg/0 — - 0.24 29 — — —
Mg A A mg/0 — 480 530 670 610 600 770
BIEREEE wS/cm — 2200 2100 3300 2700 2700 3000
X HEYEICDLT, BIEMSMZICHT BB HANBR SOk RS 2H, 1 3




(3) bk - Bk

—~30
IE |- g . 0?%7?5»

o . = H e ol KM
FAEFAH H17.1.13 H17. 2.1 H17. 3.1 H17. 4. 28 H17.5. 25 H17.6. 14
KIz Bh Y Bh Bh Bh Bh
IREEEZ 11:33 13:20 10:22 10:45 10:35 11:07
88 C 1.4 -5. 4 ~-0.5 17.9 15.4 - 20. 4
7kiB C 8.1 8.2 8.4 12.1 1.3 14.6
= = = = EHE 5 | @EE
1IARKIOA mg/0 0.1 LUF - - M) - — - -
2127 me/0 1LUF — — - - — —
3 l8n mg/0 0.1LIF — . — — — < 0. 001 =
4 |8tz mg/0 0.1LF - — — - < 0. 001 —
5 [¥e7kER mg/0 0. 005 LI F — — — - - -~
6 [FRUIEIEEZ = =)L (PCB) mg/0 0.003 LLF — = . = - - -
\rooxsy mg/0 0.2 LUF - - — — - <.0. 001 —
8 |PUig kRS - mg/8 0.02 LI'F — - — - - - =
I|l.2-snoaoxTs> mg/0Q 0.04 LI'F -~ — - — 0. 0095 —
1001, 1-sOo0xF1L > me/0 0.2 LIF — - — - — -
1M|R-1,2-raQTFL> mg/0 0.4LLF - - — — 0. 080 —
121, 1,1-FU SO0 s me/Q JLTF — = — — - —
BL1.2-Vsooxsy > mg/0 0.06 LI'F — — ) - - = -
by so0TFL > mg/0 0.3LIF — — — — - —
1517 bS200TF LY mg/0 0.1LTF — - = — 0. 0059 —
16{1. 3->s2on07oR> mg/0 0.02 LI'F — — — - . ~ —
PR me/0 0.03 LI F — — — = — —
18|FANRANT meg/Q 0.2LIF — - — — — —
FIE me/ 9 0.1LIF — - - — 0. 025 -
200> mg/0 0.1 LIF — — - — - —
2 HEMES mg/0 — — — — - — —

BHEBNESE mg/0 = — — — — i — —
22|30 % meg/0 8 LIF — — - — - —
23|Ix5% mg/0 10 LIF - — - — 0.81 . —
4| FAAF 4 pg-TEQ/0 10LLF — — — —~ - —
BIIFIREY mg/0 — — — - . — 0. 0030 —
26l b VT ) mg/0 — - - - — <0. 001 —
IE mg/0 — — — ' — — " 0. 005 —
28|p H ; - — 7.5 7.5 7.3 7.3 7.3 7.5
29]BOD me/0 — 15 21 21 - 8.0 —
30|COD mg/0 - 42 47 47 — 28 . —
31]S S mg/0 - 2 4 14 1 ) 4 1 <1
RLEH mg/0 .= 61 65 79 — - 51 —
BI2VA mg/0 — — — - — 0.16 —
gL A mg/0 - . - — — 500 - 510 610
BIBRGEEE £ S/cm — |- — — 2100 1900 2300

X AEYEICOVT, BRAMSICH 3 REKLUBRROIKEES 2, 14



-
(4) BAHTK -
T kOAE NZB#;
No 15 B B BRICKRD Radt
R il
SREEAH H17.1. 13 H17.2. 1 H17.3.1 H17.4.28 H17.5. 25 H17.6. 14
Xz Bh sY- Bh " Bh Bh BEh
FRELES ) : 11:30 11:00 14:45 10:17 9:06 9:51
1 &E C -1.5 -3.2 -3.8 17.2 135 ~20.8
kB Cc 8.9 9.5 10.5 11.2 11.3 11.3
[=XE BE B35 3 BE BE H5E
1IARZIOA mg/0 0.01 LI'F — - — — - —
227> mg/0 i — — ~ — — —
S mg/0 0.01 LUF — — - — 0. 004 -
4 |itE mg/0 0.01 LI'F — < 0. 001 — — < 0. 001 -
5 [#47k$R mg/0 10.0005 LLF — — ~ - - —
6 [FRUE{LEZ = =)L (PCB) mg/0 iR — — - — L= —
7TiooOoxs me/0 0.02 LI F < 0. 001 <0.001 <0. 001 - <0. 001 —
8 |migbiesE mg/8 0.002 LI'F — - — — < 0. 0001 —
I 2-sooxsy me/0 0.004 LI'F 0. 0002 0. 0002 0. 0001 - 0. 0002 -
101, 1->%ao0xTFL > mg/0 0.02 LIF — <0.001 — — < 0. 001 -
1|22-1,2-ZsoaFL > me/0 0.04 LI'F — <0.001 — - < 0. 001 -~
RiLLi-rysoaxzsyy mg/0 1ELF — — — — < 0. 0005 —
131, .2-hUsOonxTy mg/0 0. 006 LL'F — — — — < 0. 0001 -
ik snoTFLr me/0 0.03 LI'F — < 0. 001 — - < 0. 001 -
15175400 FL Y meg/0 0. 01 &L'F — < 0. 0005 - - < 0. 0005 —
16{1, 3-sonao~ry mg/0 0.002 LI'F — — — — < 0. 0001 —
17| -me/0 0.003 LI'F — — — — - —
18| FAXRANT “mg/0 0.02 LI'F — - - — - -
19{XE> mg/0 0.01 LI'F <0.001 < 0.001 < 0. 001 — <0.001 —
200> mg/2 0. 01 EI'F - = - - < 0. 001 —
EMES mg/0 . — — — — 4.6 —
SRR ne/0 10 EUCF = = = = 0,055 =
22|30 F&E me/0 0.8 LI'F — <0.15 — - <0.15 —
R HESES mg/0 18T 0.18 0.14 0.14 —= 0.19 —
4|54+ 8 pg-TEQ/Q 1LF — 0. 048 — — 0. 049 -
BITFILR ¥ mg/0 - — — - - <0. 0001 -
6|kl mg/0 — — — - — < 0. 001 —
211+ L mg/0 - - - — — < 0. 001 —
28|p H - - — - 6.5 6.7 6. 5
| 29 [iB{bIA A > me/0 — 160 170 180 170 150 160
| ERIEEE ©nS/cm — 780 750 760 800 630 680
156




(4) BAMTK

7~-7 7—38
7k D7) e _
Yo 5 g s | e No. 11347 No. 128477
EiEae TR R TR
HREERH ~ HIT. 4. 28 H17.5. 25 H17.6. 14 H17. 4. 28 H17. 5. 25 H17.6. 14
Rz (5300 (31 Bh Bh Bh mBh
REUEEZ 11:15 11:55 11:58 11:02 11:45 11:42
ik c 20. 6 18.0 18.9 20.2 16.0 20.8
xKiE C 16.1 17.0 16. 2 13.1 13.6 13.0 ‘
18 _ 7 E33) _BRee = WKE |
1|IAREIOA mg/0 0.01 LI'F — - — - - —
2127 mg/0 ESEE — — - — - —
3 A me/0 0.01 LAF — — — — - —
AES me/8 0.01 LI'F - — — - = —
5 |#ksR mg/0 | 0.0005LLF — — — ~— — -
6 [[RUEILEZ = =)L (PCB) mg/0 Figh — — — = - -
7ioaaxsy me/0 0.02 LI'F — — — — - —
8 |PuigqbikssE mg/Q 0.002 LI'F — -~ — — = —
91, 2-sonxT4s me/0 0. 004 LL'F — — — i - — —
10{1, 1-so00xFL > - mg/0 0.02 LI'F — — - — — —
1|21, 2-raaxFL > mg/0 0.04 LI'F — — — - — -
122(L.1,1-hNUSnQxTs > mg/0 1 LIF - — — — - -
BiLL2-kV QT4 mg/0 0. 006 LIF — - - — — —
14l ysooxFLY me/0 0.03 LI'F — — — - — -
15| S0 FL > mg/Q 0.01 LI'F - — - - - —
16§, 3-soo7OR> mg/2 0. 002 LIF — — — — — -
17|12 me/0 0. 003 EL'F - — — - - —
18|FARAINT me/2 0.02 LIF - — - — — —
19N me/0 0.01.ELIF — — — — — -
201 mg/0 0.01 LUF — — — — — —
WEMES mg/0 . ) - — — — — —
! rmEnEE ne/0 10 LT = = = = = =
22|30 F mg/20 0.8 LIF — — — — - -
ESES mg/0 1LF — — — — — —
BT AF % pg-TEQ/0 1LLF — — - — — —
BITFIREY mg/Q - - - - - — -
26| b mg/0 - — — - - - —
21|F L mg/0 — — = - - - -
28[p H = 6.7 6.7 6.5 6.4 6. 8 6.7
| 29 i1 4> mg/0 — 2400 2300 2300 1100 370 140
30 Ezﬁfiﬁi uS/cm — 7000 5300 6000 3300 2000 1200




r/\\
(4) ATk
’ HTFIkDIKE 7 9— s 1,9
No B B | 5BES No. 153¢7 FRE
e IBAERIFE %]
HEZFHA H17. 4. 28 H17.5. 25 H17.6.14 H17. 4. 28 H17.5. 25 H17.6. 14
R B B Bh BN B BN
AT 10:42 10:10 . 10:32 11:01 71:00 10:52
Sin C 17. 2 4.0 17.5 19.8 13.9 17. 8
K C 9.8 0.8 94 9.6 9.9 9.5
fiH | ®mE& | =& BE BE BE 33
HEIEEGIA mg/0 0.01 LI} — = - —~ - -
2|7 mg/0 R — — — — — —
KIS me/0 0.01 ELF —. 0. 003 — — 0. 002 —
4 lit%& me/0 0.01 LT — < 0.001 — — < 0. 001 —
5 [#k$R mg/0 ] 0.0005LLF — — — — — -
6 |sRUEILE 7 = =)L (PCB) mg/0 RS — — — - — —
7ooonxs> mg/0 0.02LLF — < 0. 001 — — < 0. 001 —
8 |miEfbiRe mg/0_ | 0.002 LT — < 0. 0001 — — < 0. 0001 =
I 2->ronTs > mg/0 | 0.004LIF — < 0. 0001 — — 0. 6003 —
101, 1-sonTFL > me/0- | 0.02 LIF — < 0.001 — — <0.001 _ —
11]>=2-1,2-CHnaxFL> me/0 0.04 LI'F — <0.001 — - 0. 001 —
121, 1,1-rUZ0pTd > me/0 1T — <0. 0005 — = 0. 0007 —
B 2-rUsooxsy me/0 | 0.006 LI F — < 0.0001 — — < 0. 0001 —
4lrUZonTFry ‘mg/0 0.03 LIF — < 0.001 — — 0. 001 —
5= FSZonTFL > mg/0 | 0.01E[F - < 0.0005 — — < 0. 0005 —
161, 3-onn7a~X> mg/0 | 0.002 LIF — < 0. 0001 — — < 0. 0001 —
= me/8 | 0.003 LLF — = — — — —
B[FFRANT “mg/0 0.02 LI'F — — — - — —~
19[RE> me/0 0.01 LIF — < 0. 001 — - 0. 001 —
WL mg/0 0.01 L[F — < 0.001 — — < 0.001 —
WEBMESR mg/0 . — 3.7 — — 3.6 —
Nrmnnes ne/0 10 EUF = 20005 = = 000 =
22| 3o % me/0 0.8 LI T = <0.15 - — <0.15 —
23lFE>% mg/0 1T — 0. 06 — — 0.03 —
U[FAAF 8 pg-TEQ/Q 1LF — 0. 049 — — 0. 047 -~
BITFIREY mg/0 — — < 0. 0001 — - < 0. 0001 —
26| FILT > me/Q — — <0.001 — — < 0. 001 —
I mg/0 — — < 0. 001 — — <°0.001 —
28/ p H = 6.6 5.8 6.6 6.7 6.8 6.7
29 [i& a1 > me/0 — 100 38 100 220 200 180
0| BEGEE wS/cm — 480 410 430 690 620 590

17




- (4) BAHTK
WTFRDKE 7
No E B B | EBIES R -
bier-p % ,

SAESERH H17. 1. 13 H17. 2.1 7. 31 H17. 4. 28 H17. 5. 25 H17.6. 14

RE B 0 Y] 20 Bh Bh

REEEZ : 14:21 13:36 14:01 12:02 11:10 11:03

Rim Cc -1.1 -1.9 -1.5 18.5 15.5 211

KR C 10.5 10. 6 10.6 10.7 10.7 10. 6

&1 | mERe | _mEne | maEne wE W

1|hEISOA ~me/0 0.01 LL'F - — - - — —

2{2 7> mg/0 R — — — — — —
A mg/0 0.01 LI'F — - — — - —
4 |Ht3E me/0 0.01 LLF = - - - - —
5 [#akER mg/0 | 0.0005 LLF - - - — - -
6 |RUEILEZ = =)L (PCB) mg/0 " B — — — — - —
7|\ooanisy mg/0 0.02 LLI'F 0. 004 0. 004 0. 003 — 0. 006 —
8 [FIEfbiRFE me/0 0. 002 LI'F — - — - < 0. 0001 -
94, 2-orsanQxyy mg/0 0.004 LI'F 0. 0003 0..0003 0. 0002 — 0. 0003 —
10}, 1->so0xFL mg/Q 0.02 LI'F 0.013 0.014 0..013 — 0.018 —
11|21, 2-oroaxFL > me/ 0 0.04 LI'F < 0. 001 <0.001 < 0. 001 - 0. 001 -
12,1, 1-hYyspnoxy mg/0 1 LT 0. 095 0. 092 0. 078 — 0.13 -
13iL1,2-rVo00xTy > mg/0 0. 006 LI'F < 0. 0001 < 0. 0001 < 0. 0001 — 0. 0001 —
1450 FL Y mg/0 0.03 LLF 0. 002 0. 004 0. 005 — 0. 003 —
15\ hSo0nxTFL mg/0- 0.01 LI'F 0. 0021 0. 0032 0.0019 — 0. 0064 —
16{1,3->soO07aR> me/0 0. 002 LL'F < 0. 0001 < 0. 0001 < 0. 0001 — < 0. 0001 —
1=y mg/ 0 0. 003 LI'F — — - — - —
18|FARANT me/0 0.02LLF — - . — — — —
iR +E mg/ 0 0.01 LI'F < 0. 001 < 0. 001 < 0. 001 — < 0. 001 -
200> mg/0 C0.01 EUF - — — = - —

ERESR mg/0 . — — — - - —

S ne/0 10 5LF = = = = = =
2|30 %F me/0 - 0.8 LLF — — — - — —
23|1F5%F me/ 0 1T — — — — — —
4|54 AF 8 pg-TEQ/Q 1 LT — — — — — —
BITFIR mg/ — 0. 0031 < 0. 0001 0. 0003 — < 0. 0001 —
26l LT mg/0 - — 0. 002 < 0. 001 < 0. 001 — ~ <0.001 —
71F L mg/0 — 0. 001 < 0. 001 < 0. 001 - < 0. 001 -
28|p H — — — — 6.3 6.2 6.2
| 29 3B{e A 4> mg/0 — — — —~ 74 75 110
VB EEER S/cm — X P X X X X

¥ BREESERUHTAMICONT, SHERERNE,
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(4) BZAHTFk
#hFkDKE ;{1‘%3 g
No hi:] B Ay FEHICERD
: RIRHE
"%ﬂﬁﬂfﬁ—ﬁ ' H17.1.13 H17. 2.1 7. 3.1 H17. 4. 28 H17. 5. 95 H17.6. 14
KIE Bh D) =V Bh Bh Bih
FE R 13:01 11:58 12:40 11:32 10:45 10:23
Sim C -0.3 -5.0 -1.5 19.4 14.0 23.0
KR C 11.3 11.2 11.2 1.2 11.2 11.2
&1 T EEwre | _wErRe x BE wE BE
1|ARSOA me/0 0.01 LIF — — — - — —
2|27 mg/0 At — — — — - —
3 |8 mg/Q 0.01 LI'F - — — - - -
4 [HFE mg/0 0. 01 LIF- — — — - — -
b ¥k ER . mg/0 0. 0005 LIF — — — — — —
6 |ARVUIEILEZ = =)1 (PCB me/0 A — — — — = —
7TioooiAy s mg/0Q 0.02 LI'F < 0.001 < 0. 001 < 0.001 — < 0. 001 —
8 |mig{biRE mg/0 | 0.002 LLF - - - — < 0. 0001 —
9, 2-snonxy mg/0 0. 004 LI'F < 0. 0001 0. 0002 0. 0007 — 0. 001 —
1L 1-so0xs Ly mg/0 0. 02 LI'F. < 0.001 < 0.001 < 0.001 — < 0. 001 —
Mzx-1,2-/rnoxFLb > me/0 0.04 LI'F < 0. 001 0. 006 0. 009 — 0.012 —
12,1, 1-rUSOOTH mg/0 1LIF < 0. 0005 < 0. 0005 < 0. 0005 - < 0. 0005 —
1311, 1, 2-hUs0oxv mg/0 0.006 LIF < 0. 0001 0. 0001 < 0. 0001 — . 0. 0001 —
4lkusnooTFL me/0 0.03 LT 0. 005 0. 003 0. 002 - 0. 002 —
15|75 200XF L mg/0 0.01 LI'F < 0. 0005 < 0. 0005 < 0. 0005 — 0. 6007 —
16|11, 3->san7Oxy mg/0 0..002 LI'F < 0. 0001 < 0. 000 < 0. 0001 - < 0. 0001 —
17o=or mg/0 0. 003 LI'F — L — - - -
18|FARAINT me/0 0.02 EU'F - — - — — —
19| R me/0 0.01 LI'F < 0. 001 < 0..001 0. 002 — 0. 003 -
2001t me/0 0.01 EI'F — — — — — —
MRS mg/0 o — — — - — —
! GmBneE ne/0 108 = = = = = -
2|50 % mg/0 0.8 LIF - - - — - —
23|IF3 & me/0 1 LUF — - - - — —
U FAAF 8 pg-TEQ/Q 1LF - — — — — —
BITFIAREY mg/0 — 0. 057 0. 097 0. 048 — 0.011 —
26l ML mg/0 — 0.017 0. 086 0.017 — 0. 003 —
2001F L mg/0 ~ 0. 046 0. 082 0. 623 — 0. 008 -
28|p H — - — - 6.4 6.4 6.3
201 A mg/0 — — — — 80 150 200
NESEEE 1$/cm = X X X % % X
X EREEERVHTREICDNT, EREEEEA,




(4) BARMTK

727
HFkDkE
No E B wi | BBICFS RIE-3
biecop %1
HEFEBR H17.1.13 HI7.2.1 H17.3.1 H17.4.28 H17.5. 25 H17.6. 14
RI% Bh &Y gY Bh Bh Bh
vl 12:48 10:38 11:50 10:37. 9:35 10:02
f]E °C -2.3 - -5.1 -1. 8 18.0 15.1 21.9
7K °c 11.4 11.4 11.4 1.4 1.4 1.4
48 _ BaIKE K R BE BE
1|AEZEOA mg/0 0.01 LIF - - - - = -
217> me/0 ST — — — — — —
3 [§a me/0 0.01 EU'F — — — — - -
4 |HtEE me/2 0.01 LUF - - - - - =
5 [¥8kER mg/Q }§0.0005 LLF — - - - - -
6 [FRUIE{LE = =)l (PCB) mg/0 ARl — — - — — —
7|\oraoiy s mg/2 0.02 LI'F 0. 008 0. 008 0. 008 — 0. 005 —
8 |PHiE bR me/0 0. 002 LU'F — - - — < 0. 0001 —
9|1,2-s00x4 me/0 0.004 LI 0. 0008 — 0. 001 —
10{1,1-o/00xTFb me/0 0.02 LI'F 001 — < 0.001 —
1Mi>x-1,2-soO0xF b me/0 0.04 LI'F 1 765 — 0.012 -
12(1, 1, 1-hU 00T % mg/0 1T < 0. 0005 < 0. 0005 - < 0. 0005 —
1301, 1.2-rY 00T S > me/2 0.006 LUF | 0. 0002 0. 0002 — 0. 0001 —
M4lrksnoIFb me/2 0.03 LI'F 0. 004 0. 005 — 0. 006 —
15| 7 o000 F L me/0 0.01 LLI'F 0. 0051 0. 0048 — - 0. 0028 -
161, 3->onn7Ooxy meg/0 0. 002 LI'F . < 0. 0001 < 0. 0001 — < 0. 0001 -
17(or< me/0 0. 003 LI'F = — — - — -
18(FARANT me/0 0.02 LI'F - — — — — —
19 mg/2 0.01 LI'F 0. 005 0. 005 0. 005 — 0. 004 —
20{tL > mg/Q 0.01 LIF — — - - - =
WREER mg/0 . — — — — — —
! rRBNEE ne/0 105F = = = = = =
S me/0 0.8LLF — — — — — —
23|1Z35% me/0 1 ELF — — — — - -
28| A4 FAF 8 pg-TEQ/0 1 LT - - - — — —
| TFIR Y - mg/0 — 0. 48 0.54 0. 41 — 0. 092 —
26| kLT me/0 — 0.92 0. 90 0.63 — 0.15 —
2{F L mg/0 — 0. 34 0. 33 0.23 - 0. 085 -
-128]pH — — — — 6.2 6. 1 6.0
29|k A A mg/0 — — — — 340 360 380
NBEREEE wS/cm - X PR X X X X

ESESELUMTKREICDONT, EEERE R,




(4) BAtTA

7 —28
HhFkDKE
No ® B s | s®Hs RE-4
: RS | |
EEZE Hi7.1.13 M7 21 Mi7.3.1 7.4 28 W75 25 "HI7.6. 14
X% Bh =Y &Y Bh BN Eh
RS Z 11:59 9:58 T7:10 70:18 915 9:42
=) C 2.0 3.8 1.8 18.0 4.5 7.4
KE C 10.8 10.8 0.8 10.8 10.8 10.8
248 xK BRIKE TR E
1|AhEEOA mg/ 0 0.01 LI'F — — — - — C =
727~ me/0 TR = — — — — =
38 me/0 0.01 LI'F — - — — — -
4 |HtsE mg/0 0.01 LL'F — — - — - -
5 |¥ok$R mg/0 1 0.0005 LLF- — — - - - -
6 [ARUIE{LEZ = =JL (PCB) me/0 AR - — — — — —
B A=1=b X4 B mg/0 0.02 LI'F 0. 001 < 0. 001 < 0. 001 - <0.001 —
AR me/8 | 0.002 LLT - = — = < 0. 0001 —
91, 2->rnoxs mg/0 0.004 LL'F < 0. 0001 < 0. 0001 < 0. 0001 — < 0. 0001 —
o 1->ZaonTFbr mg/0 0.02 LI'F < 0. 001 < 0.001 < 0. 001 — < 0.001 —
Mo 21, 2-900LF by me/0 0.04LIF 0. 001 0. 001 0. 001 = 0. 001 =
1701, 1-FUZ00Ts > ne/0 “1LIF | <0.0005 < 0. 0005 <0, 0005 = —< 0.0005 =
13l .2-pbVsOnTy > ng/0 0.006 LI'F < 0. 0001 < 0. 0001 < 0. 0001 - © <0. 0001 —
MY PRS2 me/0 0.03LIF | <0001 0. 001 0. 001 = < 0. 001 =
57 FS/O00LF LY me/0 0.01 LLF | 0.0033 0. 0038 0. 0027 — 0. 0046 =
161, 3->ono7aRy mg/0 0.002 LI'F < 0. 0001 < 0. 0001 < 0. 0001 — < 0. 0001 —
17| me/8 | 0.003 ELF — — - = — — —
B|FF~ANT me/0 0. 02 LLF = = = = = =
[~ me/0 0.01 LI F | <0001 <0, 001 20,001 — < 0. 001 =
T ET%% me/0 0.01 LIF = — — = = =
BEMESR meg/0 . - - - — - —
! rmnren ne/0 AT = = = = = =
Y me/0 0.8 LIF = = = = = =
E] IE3=ES mg/0 1 LT — - — — — —
UFAAF B pe-TEQ/Q 1L = - = = = =
BITFNA L me/0 — < 0. 0001 < 0.0001 < 0. 0001 = < 0. 0001 =
26| bV ) me/Q — <0.001 < 0. 001 < 0. 001 — < 0. 001 —
271F mg/0 — <0.001 <0.001 < 0. 001 - < 0. 001 —
28| p H = = — — 6. 1 6.0 6.0
29[ BB~ me/0 = = = - 83 8 85
N [ESEEE uS/cm - X X X X X X

X BREESERGHTAMICDOVNT, BHERERE.
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(4) BRHTFK
T ADKE A
No BH B B | EBICERS N
EER 4
HEEAH Hi7. 1.13 Wiz 2.1 H17.3.1 W17, 4 28 Hi7.5. 25 Hi7.6. 14
E P =Y =Y B B [Z0
BRELEF 13:31 12:59 13:20 11:02 10:10 10:39
) °C 0.2 48 1.2 18.0 15.0 21.8
KR C .7 .7 1.6 11.6 11.6 1.6
=L _ ' ET ERE FERE |
TIAREDA ne/0 0.01 LUF = = = = = =
217> ‘mg/Q ST — — — — - -
3 |8 /0 0.01 LUF = = = = = =
4 = mg/0 0.01 LIF - - = = = =
5 |4k $R mg/0 | 0.0005 LIF — — = — = —
6 |[RUIEBILE 7 =)L (PCB) mg/0 Rl = = — - = — =
AR me/0 0.02 LIF 0. 002 0. 002 0. 002 - 0. 002 =
AEREER me/0 | 0.002 LI F — — — — — —
9|1,2->/00T4 Y me/0 | 0.004LIF 0. 0011 0. 0012 0. 0009 — 0. 0013 —
N me/0 0.02LLF | <0.001 < 0. 001 < 0. 001 - = -
N>R, -0 00TF Uy me/0 0. 04 LLF 0. 009 0. 007 0. 005 = 0. 008 =
12[1,1.1-FUZ00T% v me/0 1T 0. 0005 0. 0005 < 0. 0005 = — =
1301,1,-F) 2 00T% ¥ me/8 | 0.006 LIF 0. 0001 < 0. 0001 < 0. 0001 = = =
NIV EEEES me/0 0.03 LIF 0. 002 0. 002 0. 002 = - =
57 rS>o00TFL > mg/0 0.01 LUF < 0. 0005 Z0.0005 < 0. 0005 = 0. 0005 —
16]1,3->s0070~X> me/0 | 0.002 LLF 0. 0001 < 0. 0001 0. 0002 — = =
P me/8 | 0.003 LT — = = = — =
B|FA~CHILT me/0 0.02LLF = = = — = =
[REY me/0 0.01 LLF 0Edee e e - —
WL me/0 | 0.01 LIF — - = = =
WEEEER me/0 N = — = - = -
! rmenEE ne/2 10 EF = = = - = =
2| 5o &E mg/ g 0.8 LLF — — - — — —
EIEEES | me/o 1LT — = — - = =
UTAFTFL VB pe-TEQ/8] 1LLF = — — = = —
BlTF AL me/0 = 0.17 0.19 0.12 — 0. 21 =
6| F LT me/0 — 0. 073 0. 051 0.011 — 0. 009 -
ET me/0 — 0. 079 0. 082 0. 037 — 0. 035 =
12glpn — - = = 6.3 5.3 6.3
Bl e mg/0 = — — = 910 800 750
0| BEEEE ©.S/cm — X X X X X X

¥ BRIZEERUHTREICDNT, EREREER.
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> KSEE-AYLITHERE 5

(1) AEREEEYE
(2) XKKRBEEDE
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2 KEBE=HRYUIURERR

(1) BERKREEME

26

Ivo HE oy RIFRR Bt EAIER Bt o8 IR SR S
, A-1a A-1b A-1c S
AERRE  H17.1.25 H17.6.14 H17.1.25 H17.6. 14 H17.1.25 H17.6. 14 '
1[RyEY (mg/m*) | 0.0010 0. 0003 0. 0007 0. 0003 " 0. 0009 0. 0002 0. 003LLF
2|y OoaIFLY (mg/m®) | <0.0002 <0.0002 | <0.0002 <0. 0002 <0. 0002 <0. 0002 0.2 UTF
3|5 rsvnnTFLY | (mg/md) | <O 0002 <0. 0002 <0. 0002 0. 0002 <0. 0002~ <0.0002 0.2 EI'F
AloHhonray (mg/m’) 0. 00017 0. 00023 0. 00041 0.-00051 0. 00018 0. 00026 0.15 LL'F
¥ RUFPUVEIZEIZREDFLICRIFREEEEZERM,




- (2) REFXME

SREHh A Lt A—2
A AR ”H17.1.23~1,29 ”H17..6.10~6.16 -
Rl PPN Il FP P 2N
(ppm) (ppm)

TBE| 0.002 o 0. 004 0
REEEIIEXY o 0. 005 O | pwsm
@ 3B8H 0. 002 O 0. 002 O £30. 04~
fe[4BE | 0.003 0 0.0 | O |0.06p0m

| HEEIIXY 0 0. 003 0 é;;;b'ﬁ%

6B E| 0.002 0 0.002 0

7BE| 0.002 o 0.003 )
S FRMEA - 2
A= R HI7.1.23~1.28 . H17.6.10~6. 16 I

1EIZF1’>21E o T 1%?&13@ Ga A 1El:Fi’—3ﬁE o A _15%%113@ .
(mg/m”°) | (mg/m°) (mg/m”) (mg/m"°)

TEE| 0.006 0 0.020 o 0.038 o 0. 066 0
i FEE] BT 0 0. 039 0 0.033 o 0. 058 O |igmsmms
¥ 388 | 0.025 0 0. 056 0 0.010 o 0.035 0 o imguF
*[288] 0000 o 0.026 0 0.020 o 0. 067 O ]
A5EE | 0.008 0o 0.020 o 0.020 0o 0.052 O ﬁf:‘/ﬁgj: '
= 6EE]| 0.007 o 0.028 0 0.011 o 0.037 0O

JEE| 0.005 O 0.031 0 0.011 o 0. 036 0

27
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: (6Ff~2 2%
s (BR) 6:00~22:00 _
BIELER (LAeq) *2 60 61 62 61 69 TOLLF

1) BEEEL DERICET AHEOEEEE] ORBREEESERITEET A EMEER,
2) LAeqiZEMERE L NI, |

(2)%@

~ R BRI AT
BIEHh = EERE
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